Name Date

@€ZEED Solving Problems with Addition and

Subtraction
1. A. 600 + = 1300 B. 400 + 800 = _____
c. 500 + 900 = D. 1000 — =450
E. 1000 — = 343

2. Tina’s high school graduating class has 321 students. Rita’s junior high
graduating class has 132 students. Sara, who is graduating from
kindergarten, is in a class of 42 students.

A. How many more students are in Tina’s class than in Rita’s?

B. If all three classes attend the same ceremony, how many students
would be graduating?

3. Ted read a book for 43 minutes on Saturday and 29 minutes on Sunday.
A. Did Ted read for more than one hour? Explain how you know.

B. How long did Ted read?
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